recognizer!!4°

recognizer (es;i;ds;x;k;T;test)
=ger (@Qi(x:B) & (state@i Cr State(ds)) & (kindtype(i;k) Cr T'))
cA (Ve@i.
(1(x after e))
< (Je":E. ((¢/ <loc e & kind(e’) = k) cA (1(test((state when e’),val(e’))))))
& x initially@i = ff)

clarification:

recognizer(es;i;ds;x;k;T;test)
=qet (es-dtype(es;i;z;B) & (es-state(es;i) Cr State(ds)) & (es-kindtype(es;i;k) Cr T))
cA (alle-at(es;ize.(Tes-after(es; x; €))
< (e’:es-E(es)
((es-le(es;e’se) & es-kind(es; e') = k € Knd)
cA (T (test(es-state-when(es;e’),es-val(es; €')))))))
& es-initially(es;i;x) = ff € B)
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